Part Number: I-s-25-B

Description: Brave Saddle C o rb I n
Fitment: 2025 Indian Scout

Revision: 1

Tools Required Parts List
5mm Allen Wrench 1 #A01384 Front Seat Mounting Bracket
2 #SP00215 5/16" Flat Washer
2 #SP00973 m8 x 40 Allen Bolts

1. Begin by removing your stock seat(s). Refer to
your owners manual if necessary.

2. Remove the rear mounting bolt, using a 5mm
Allen wrench (Figures 1 & 2).

5. Install the front bracket and secure with the
5/16" flat washers and m8 x 40 Allen bolts, using
a 5mm Allen wrench (Figure 3).

6. To install your new Corbin saddle, start by
sliding the two front tabs under the front mounting
bracket you just installed, then lower the rear of
the saddle, line up rear bracket to the hole in the
fender, then secure with the stock bolt or use one
of our machined stainless steel thumbscrews.
(Figure 4)

Enjoy your new saddle!

Questions? Give us a holler...

800-223-4332

tech@corbin.com




SEND w/ seat
e P00215 5/16 flat washer
QTY (6 zinc finish

| [5P00973 | 8m x 40m allen bort
; QTY (2 zinc finish

- Y _ ___black finish

rear seat tab

chrome finish




